
    
ModelsModelsModelsModels
HP xw4X00/Z2X0/Z4X0 Depth Adjustable Fixed Rail Rack Kit WH340AA
HP Z6X0/Z8X0 Depth Adjustable Sliding Rail Rack Kit NN124AA
HP xw8200/xw9300 Sliding Rail Rack Kit DY664A

IntroductionIntroductionIntroductionIntroduction
The Rack Mount Solution for the HP xw4X00, HP Z2X0, and HP Z4X0 Workstations features a locking tray that secures to the
workstation and adjustable fixed-rails that attach to the rack. This kit offers a low-profile design with minimal impact on space
constraints, allowing for high density rack configurations. Highlighting flexibility and safety, the HP xw4X00/Z2X0/Z4X0 kit provides
an affordable and simple rack mount solution for use with any of HP's current entry-level workstations.

The HP xw4X00/Z2X0/Z4X0 Depth Adjustable Fixed Rail Rack Kit (WH340AA) includes fixed-rails, a locking tray, and system
adapter brackets. The fixed rails provide a stable platform for rack mounting and attach to the server rack using the provided
hardware kit. The locking tray attaches to the workstation using captive screws and the system adapter bracket specific to your
application. Simply slide the workstation into the rack so the fixed-rails are held captive by the tray and secure using theouter-most
captive screws. The tray features two catches, located underneath the workstation, for added safety.

The HP xw4X00/Z2X0/Z4X0 Depth Adjustable Fixed Rail Rack Kit is suitable for the following racks:

HP Series-E
Compaq 10000 Series Rack
May work on other third party racks

The HP Z6X0/Z8X0 Depth Adjustable Sliding Rail Rack Kit (NN124AA) features an enterprise-class three section ball-bearing
extension slide. The slides are fully extendible, so the unit can slide completely out of the rack for servicing making it easy to add
memory, hard disk drives, optical disk drives, option cards, etc. without removing the computer from the rack.

This kit comes with rails that snap into HP racks without using tools, making setup convenient and efficient. The inner slide and
mounting flanges attach to the computer chassis using a set of screws for added strength and stability. The top mounting holes are
concealed underneath the top plastic trim, which must be removed along with the rear handle to attach the inner slideand mounting
flanges.

Parts for installing the sliding rack mount kit in HP legacy racks are sold separately in adapter kit part number WD587AA and are
compatible with the following rack models: E3660B, E3661B, E3662B, E7590A, J1450B or J1487A/B.

The HP Z6X0/Z8X0 Depth Adjustable Sliding Rail Rack Kit is suitable for the following racks:

HP Series-E
Compaq 10000 Series Rack
May work on other third party racks

The HP xw8200/xw9300 Sliding Rail Rack Kit (DY664A) attaches a workstation securely in a horizontal position with sliding rails.
This kit includes a set of depth adjustable sliding rails that mount to racks having square holes, round holes, and some third party
racks including some having pre-threaded holes in the vertical columns with rack depths from 24–30 inches, particularly broadcast
racks. The kit also includes left and right mounting flanges that attach to the computer (after removing the plastic foot and top cover),
and mounting hardware for several different racks (M5, M6, 10-32).

The HP xw8200/9300 Sliding Rail Rack Kit is suitable for the following racks:

QuickSpecs HP Workstation IT & Broadcast Rack KitsHP Workstation IT & Broadcast Rack KitsHP Workstation IT & Broadcast Rack KitsHP Workstation IT & Broadcast Rack Kits

Overview

DA - 12373   Worldwide — Version 4 — May 1, 2010 Page 1



HP Series-E
Compaq 10000 Series Racks
Some Rack enclosures with pre-threaded columns
May work on other third party racks

The depth adjustable rails can be mounted at any height. The kit includes mounting hardware that will allow you to rack-mount your
workstation in the rack types listed above. The kit includes left and right mounting flanges that are attached to the workstation after
removing the plastic foot and top cover. The inner slide members also attach to the workstation, then it is inserted into the outer slide
(which is attached to the rack), and secured with 4 screws (two for each flange).

CompatibilityCompatibilityCompatibilityCompatibility
The HP xw4X00/Z2X0/Z4X0 Depth Adjustable Fixed Rail Rack Kit (WH340AA) is compatible with: HP xw4300, HP xw4400, HP
xw4600, HP Z2X0, and HP Z4X0 workstations.
The HP Z6X0/Z8X0 Depth Adjustable Sliding Rail Rack Kit (NN124AA) is compatible with: HP Z6X0 and HP Z8X0 workstations.
The HP xw8200/9300 Sliding Rail Rack Kit (DY664A) is compatible with the HP xw8200, HP xw8400, HP xw8600, HP xw9300, and
HP xw9400 workstations.

Service and SupportService and SupportService and SupportService and Support
All racking kit products have a one-year limited warranty or the remainder of the warranty of the HP product in which it is installed.
Technical support is available seven days a week, 24 hours a day by phone, as well as online support forums. Parts and labor are
available on-site within the next business day. Telephone support is available for parts diagnosis and installation. Certain restrictions
and exclusions apply.

QuickSpecs HP Workstation IT & Broadcast Rack KitsHP Workstation IT & Broadcast Rack KitsHP Workstation IT & Broadcast Rack KitsHP Workstation IT & Broadcast Rack Kits

Overview

DA - 12373   Worldwide — Version 4 — May 1, 2010 Page 2



HP xw4X00/Z2X0/Z4X0HP xw4X00/Z2X0/Z4X0HP xw4X00/Z2X0/Z4X0HP xw4X00/Z2X0/Z4X0
Depth Adjustable FixedDepth Adjustable FixedDepth Adjustable FixedDepth Adjustable Fixed
Rail Rack KitRail Rack KitRail Rack KitRail Rack Kit

Rack Mounting DepthRack Mounting DepthRack Mounting DepthRack Mounting Depth Adjustable: Minimum Mounting Depth: 48.3 cm (19 in)

Maximum Mounting Depth: 79.6 cm (31 in)

Weight CapacityWeight CapacityWeight CapacityWeight Capacity 45 kg (100 lb)

MaterialMaterialMaterialMaterial Steel

Rack Mounting kitRack Mounting kitRack Mounting kitRack Mounting kit Mounting Tray

Rails—fixed, depth adjustable

Mounting HardwareMounting HardwareMounting HardwareMounting Hardware M5 & M6 Hardware Kits

M5 Hardware PacketM5 Hardware PacketM5 Hardware PacketM5 Hardware Packet M5 Cage Nut (12)
M5 Combo-head Screw (12)

M6 Hardware PacketM6 Hardware PacketM6 Hardware PacketM6 Hardware Packet M5 Cage Nut (12)
M5 Combo-head Screw (12)

HP Z6X0/Z8X0 DepthHP Z6X0/Z8X0 DepthHP Z6X0/Z8X0 DepthHP Z6X0/Z8X0 Depth
Adjustable Sliding RailAdjustable Sliding RailAdjustable Sliding RailAdjustable Sliding Rail
Rack KitRack KitRack KitRack Kit

Rack Mounting DepthRack Mounting DepthRack Mounting DepthRack Mounting Depth Adjustable: Minimum Mounting Depth: 60.96 cm (24 in)

Maximum Mounting Depth: 76.2 cm (30 in)

Weight CapacityWeight CapacityWeight CapacityWeight Capacity 45 kg (100 lb)

MaterialMaterialMaterialMaterial Steel

Rack Mounting kitRack Mounting kitRack Mounting kitRack Mounting kit Left and right flanges

Slide, ball bearings

Mounting HardwareMounting HardwareMounting HardwareMounting Hardware M4 Hardware Kit

M4 Hardware PacketM4 Hardware PacketM4 Hardware PacketM4 Hardware Packet M4 screws (8)

HP xw8200/9300 SlidingHP xw8200/9300 SlidingHP xw8200/9300 SlidingHP xw8200/9300 Sliding
Rail Rack KitRail Rack KitRail Rack KitRail Rack Kit

Rack Mounting DepthRack Mounting DepthRack Mounting DepthRack Mounting Depth Adjustable: Minimum Mounting Depth: 60.96 cm (24 in)

Maximum Mounting Depth: 76.2 cm (30 in)

Weight CapacityWeight CapacityWeight CapacityWeight Capacity 45 kg (100 lb)

MaterialMaterialMaterialMaterial Steel

Rack Mounting kitRack Mounting kitRack Mounting kitRack Mounting kit Left and right flanges with handles

Slide, ball/roller bearing

Mounting HardwareMounting HardwareMounting HardwareMounting Hardware M4, M5, M6 & 10-32 Hardware Kits

M4 Hardware PacketM4 Hardware PacketM4 Hardware PacketM4 Hardware Packet M4 screws (8) for attaching slides and flanges to computer

M5 Hardware PacketM5 Hardware PacketM5 Hardware PacketM5 Hardware Packet M5 Cage Nut (12) M5 Screw (12)

M6 Hardware PacketM6 Hardware PacketM6 Hardware PacketM6 Hardware Packet M6 Cage Nut (12) M6 Screw (12)

10-32 Hardware Packet10-32 Hardware Packet10-32 Hardware Packet10-32 Hardware Packet 10-32 Cage Nut (12) 10-32 Screw (12)

© Copyright 2010 Hewlett-Packard Development Company, L.P.

The information contained herein is subject to change without notice. The only warranties for HP products and services are set forth
in the express warranty statements accompanying such products and services. Nothing herein should be construed as constituting an
additional warranty. HP shall not be liable for technical or editorial errors or omissions contained herein.

QuickSpecs HP Workstation IT & Broadcast Rack KitsHP Workstation IT & Broadcast Rack KitsHP Workstation IT & Broadcast Rack KitsHP Workstation IT & Broadcast Rack Kits

Technical Specifications

DA - 12373   Worldwide — Version 4 — May 1, 2010 Page 3


	Overview
	Technical Specifications

